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Question No. 1 is compulsory.

Answer any four questions from Question Nos. 2 to 7. .

All questions carry equal marks.
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Answer any five parts : © learndu.in

() ‘All giffen goods are inferior goods, but al inferior

goods are not giffen goods.” Do you agree with this

statement ? Give your justification, 1

(i)  Suppose that demmjd for honey (in '000 litres per year)

is given by the function :

Q4 = 6000 — 30P. |

What is the elasticity of demand at a price of Rs. 75 per

litre ?

(ii)  What is the impact of a tax at the rate of Re. | per unit
of output levied on the producers, on the AFC, AVC, -

ATC and MC curves ?

() A policy maker is deciding how to finance the construction
of a new airport. He can either pay for it by increasing
citizens' taxes or by printing more money. What afc
some of the short-run and long-run consequences of

each option ?
38
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Suppoée that a firm's production function is
Q = L3 — 200L2 + 10000L. At what amount of labour
input are the firm’s average and marginal products
equal ?

What are the conditions for a. natural monopoly to
arise 2 To what extent should natural monopolies be

regulated ?

ﬁr-ﬂu’(amrmﬂﬁrq

()

(if)

aoft fire asqd sfem aqd € g =t wfen
Feqd e aeqd wd €1 ¥ oMW W FUT W

ggHd € ? HRO FaR |

Ty &1 " (e9R o ufw ad #) fem

t:

Q7 = 6000 — 30P.
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()  Explain the water-diamond paradox using the D%

5
principles of Economics. s
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A nation with fixed quantities of resources is able to

produce any of the following combinations of bread and

ovens

Loaves of Bread (million) Ovens (in "000)

- 0
P 12
45 2
30 30
15 %
0 "

_(a)  Graph the Production Possibility Curve (PPC) using

this data. 2

(b)  Does the principle of increasing marginal cost hold

in this nation ? Explain briefly. 3

What is consumer surplus ? Is it always a measure of
consumer welfare and economic wellbeing 7 If not. why

not ?
5
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Nivedita has decided always to spend 40% of her income
on books. What is her income elasticity of demand.and

price elasticity of demand for books ? (Use the midpoint

formula for price elasticity.) ' 5

Assume cream cheese and ‘bread to be complements.
If both the equilibrium price of cream cheese and
equilibrium quantity of bread were to rise. is it because
of decline in price of flour or fall in price of milk ? lllustrate
and explain your answer. (Cream cheese uses milk and

bread needs flour as an input) S

What are the factors that the deadweight loss associated
with a tax, depends upon ? Is it right to say that a tax

that has no deadweight loss cannot raise any revenue

for the government ?

40 P.T.O.
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()  Natasha's income is Rs. 3,000 per month. She sbends all
of il‘un tickets to concerts and films. Concert tickets cost
Rs. 150 per ticket and film tickets are available at Rs. 100
per ticket. The marginal rate of substitution for concerts
with films = F/C, F — number of film tickets, C - number
of concert tickets. How many film and concert ticketsv

‘ 5
should she purchase ?7 4
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(if) Describe the shape and slope of the indi "
l .
e learndu.in
What do the ICs of perfect substitutes and complement

ﬁ

look like ? Explain with examples.

(i) Trace out the demand curve of inferior goods using the

indifference curve approach, delineating between the

income and substitution effects. 5
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Prism Ltd. is a competitive firm operating under the

following conditions :

Price of output is Rs. 5, the profit maximising leve|
of output is 20,000 units of output, and the total cost
of producing 20.000 units is Rs. 1,20,000. The firm’s
only fixed factor of production is a Rs. 3,00,000 stock of
capital. If the interest rate available on comparable risks
is 10%, should this firm shut down immediately in the
short-run ? 3

What are the possible shapes of the long:=run supply curve

in a competitive industry ? What are the reasons for these

different shapes ?

: and
Depict and discuss the relation between average

5
marginal cost curves in.the short-run.
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() qu: does a monopolist’s Quantity of output compare

to the quantity of output that maximizes total

surplus ?
4
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Based on market research, a film produci
Pany
that is a price maker in the industry, obtajns h
v l e

following information about demand and producyj
ion

costs of its new DVD :
Demand : P = 1000 - 10Q
TR = 1000Q - 10Q?

MC = 100 + rlﬁQ.-

where Q is the number of copies sold and P is the
price.
(@) Find the price and quantity that maximise the

company’s profits.

()  Find the price and quantity that maximise social

welfare.

(¢) Calculate the dead weight loss caused due to the

imperfect market form. P

B O LT i ctice
What is price discrimination ? How does lhls pra

polist marke!

5

increase the efficiency of the mono

form ? 43
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How does the immigration of workers aff;
= affect su
Pply of
labour. demand for labour. marginal productivity of labo
ur

and equilibrium wage ? .

o right to argue that when both the product and

labour markets are perfectly conipetitive, then there is
simultaneous achievement of equilibrium. in both the

markets. 5

A cow dairy can sell all the milk that it wants for
Rs. 40 per litre, and it can hire all the robots it wants
to milk the cows at a capital rental price of Rs. 1,000 a

day. It faces the following production schedule :

No. of robots Total product (in litres)
0 '
I . 50
2 85
3 | 115
4 140
5 150

6 44 155
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(@) In what Kind of market structure does the firm

sell its output ? How can you tell ?

() In what kind of market structure does the firm

hire robots ? How can you tell ?

(c) ~Calculate the marginal product and the value of

marginal product for each additional robot.

(@ How many robots should the firm hire ?

Explain. 1+1+2+43
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